WIEC Past Paper Questions

Tier: Intermediate

Intermediate Maths Sample 1 P2 Q16

Topic:

Quadratics

Factorise x* —x — 20, and hence solve x> —x—20=0. 3]
Intermediate Maths Sample 2 P2 Q16a
(a) Factorise x> —4x —21. and hence solve x> — 4y —21 = 0.

(3]
Intermediate Maths Nov 2017 P1 Q15
Factorise x% — 7x — 18, and hence solve x?— Tx — 18 = 0. [3]
Intermediate Maths June 2017 P2 Q18c
(c¢) Factorise x2 - 3x-28. [2]
Intermediate Maths Nov 2016 P2 Q18a
(@) Factorise x> — 2x — 24, and hence solve x2—2x - 24 = (. [3]
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